Eastry C.E Primary School

Maths Calculation Policy

‘Learning and growing, side by side in God’s love.
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Maths in Early Years Foundation Stage (EYFS)

At Eastry C.E Primary School, we believe that Mathematics is an important part of learning for all
children in the early years and receiving a good grounding in maths is an essential life skill. We are
committed to delivering a rich and varied curriculum that not only focuses on number but also
supports skills such as problem solving, understanding and using shapes as well as measure and
developing skills in spatial awareness.

In EYFS by the end of the year, children should be able to:

Number: count reliably with numbers from 1 to 20, place them in order and say which number is one
more or one less than a given number. Using quantities and objects, they add and subtract two
single-digit numbers and count on or back to find the answer. They solve problems, including
doubling, halving and sharing.

Shape, space and measures: children use everyday language to talk about size, weight, capacity,
position, distance, time and money to compare quantities and objects and to solve problems. They
recognise, create and describe patterns. They explore characteristics of everyday objects and
shapes and use mathematical language to describe them.
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Maths in Early Years Foundation Stage (EYFS)

Children in the EYFS learn by playing and exploring, being
active and through creative and critical thinking which can
take place both indoors and outside and link to life
experiences.

Mathematical understanding can be developed through
stories, songs, games, routine, questioning, imaginative
play, real life scenarios, child initiated learning and
structured teacher led activities.

I have one banana and three
apples. How many pieces of fruit
do I have altogether?

I have six cakes and | eat
two. How many are left?

*—\L x&

How many leaves
have | found?

40

Children are encouraged to record their understanding
through mark making and informal jottings:

iy e ] R
gl & 0oL

|\

Visual and concrete resources are also used when
counting, adding or subtracting 1 digit numbers, sharing into
groups or doubling:
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£33, 000
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EYFES vocabulary: number, add, zero, take away, equal, forwards, backwards, many, altogether, left, more, less, double,
share, same, half, digit, one(s) circle, square, triangle rectangle, oval, cube, cuboid, sphere, cylinder, side, corner, edge,
round, pointy, bigger(est) smaller(est) taller(est) shorter(est) heavier(est) lighter(est) longer(est), full (er/est) empty(ier/est)
on top, behind, next to, between, in front, on top, under, inside, time, today, yesterday, tomorrow, first, next, finally,

afterwards, compare
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Objective & Strategy Concrete Pictorial Abstract

Combining two - o 3 %@

parts to make a “ e 4+3=7 B 4

whole: part- whole ﬁ“\.‘@_ @ -_ |

model Use part part whale model. ' 3
U bes to add e | T Use pictures to Use the part-part
h:;::gem:{ asa ET':::':; . . .I. . add two num- 10=64+ 4 whoe diagram as
in & bar. 1o 10 bers together shown above to move

as 3 group or in into the abstract.
T v
Starting at the big- 12+5=17 5+12=17

Place the larger number in your head and

counting on Start with the larger number on the bead e smber on the mumber count on the smaller number to find your
- Start larger answer.
string and then count on to the smaller num- | jine and count on in ones or in one jump to
ber 1 by 1 to find the answer. find the answer.
Regrouping to make “—-'-., 6+5=11 T+a=11
° —
Thiz is an essential skill for If 1 am at seven, how many more do | need to
column oddition lotar. Start with the
i aagisen orer number Use pictures ar a number line. Regroup or make 10. How many more do | add on now?
ol - partiticn the smaller number using the part
anaus= part whale model to make 10
smaller number
to make 10 o+ 5_=|E e
| r ] Use ten frames. (][4 “_
W_ﬂ M o 13/ 1% 1% 97 10 ™ 32
Represent & use o e ey T Emphasis should be on the language
number bonds and - s i 3 5 L ‘é - é a 1o
) [~ e ) x x ‘1 move than 5 is equal to 6.7
related subtraction - —
S =5 E— T 2 than 5is 7.*
facts within 20 2 miore than 5. =5 5= 5 more is
= = ‘8 is 3 more than 5.°
& 4 = =

Year 1 Addition key vocabulary: ones, tens, digit, fewest, largest, greatest, sum, subtract, missing number

JILIAay =
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Model using Dienes and bead strings.

Use representations for base ten.

Objective & Concrete Pictorial Abstract
Strategy
Adding multiples of 50=30+20 E B E | I i | |20+ 30=350
ten | 1 il 5
v || L s
- . L b !
- -} A 1=ra + B bane - kane q’ﬂ'l'D:ED
20+ 50=

Use known number

children ex- . ) D _ 20-1= r|
facts / plare of This can be represented using a bar model. +1=20
i =20 - =1
oo | (20K Fgt o, | I | D - O
5 Within
14 ) 6
Using known facts I:IEID + EII:I|:| - I:ID|:||:|D|:| e = . F+d=7
_ leads &
. I+ = g wadsto
+ - mE . mm —mm 30 +4D=70
[] EE  @mp@Em
Three and three makes six. So three tens mm leads to
and three tens make six tens. =
Children draw representations of H,T and O 300 + 400 = 700
Bar model
Q0 eeee ‘"““ﬂ“" ‘ z | =
B 4
3+4=7 '
7+3=10 23 +25=48

Year 2 Addition key vocabulary: numeral, teen, exchange, hundred, thousand, order, compare, equivalent, sequence,

Liaav <
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‘” Yy 9%

Combine to make 10 first if possible, or
bridge 1o then add third digit

Regroup and draw representation.

Objective & Concrete Pictorial Abstract
Strategy
Add a 2 digit A = 17 +5=22 17+5=22
number and ones. EELEE 17+5=22 Uze F‘E"'t \
T
[_JLJ _"DL Use tens frame to Elnd number Explore related facts
L[__, make ‘magic ten.’ fine to
Hg_ —1 | 17+5=122
16+ 7T
model. Iy & ‘i 5+17=22
. 22
cChildren explore the pattern. @ 33_17=5
17+5=22 I . i 17 5
A8 20 23 |22—5=17
27+5=32 —
Add a 2 digit num- Number lines or a 100 square can be used. 27 +10=37
a [e[s 1257 [a]2 ]
IJE'F -EI'Id tens I 2? +30 111z |13 |14 |15 16 |17 1819 |20| | 2T + 20 = 47
! +10 +10 410 e R ) PRy
25410 =35 o 715273 74 75 7 30
! I L ! 81|82 |83 |84 |8% (86|87 |88 |89 |90
Explore that the ones digit does not change 27 37 471 57 o192 ]9 |9 |95 ]9 [or] 98|99 od
Add two 2-digit Y 25 +4
numbers Og 1 +20 6 B sa oW gg+l‘, 15;4,3,,
1 s e o F
g o o W
= o e ;5 aT &7 70 TI 20+ 40 =60
Model using sticks of ten, bundles of Use number line and bridge ten using part 37 =12
straws Dienes or unifix. whole if necessary. 60+ 12 =72
Add three 1-digit 4% 7 +B )= |1 D| +|?
numbers + + p 10

Combine the two numbers that make/
bridge ten then add on the third.

Year 2 Addition key vocabulary: numeral, teen, exchange, hundred, thousand, order, compare, equivalent, sequence,




Eastry C.E Primary School

Objective & Concrete Pictorial Abstract
Strategy
Column Addition—no r Q hﬂndel using Children move to drawing the counters using
regrouging |friendly mﬂﬂm [ 1 ]] DHEI"rES_ or nu- 2 tens and one frame. 2 2 3
nmumbers) mcon
OIIT11711T] |eEEEE
Add together the ones first, then the
Add two or three 2 or 3- | tens. — Unats + 1 1 4
digit numbers. 4% % %E E é:] tens ones
* g 0.0 337
e 8 . ..
| Add the ones first, then the tens, then
© | = | b | babe dmr, the hundreds.
elelolofl L L | e ‘Three add four is seven, two tens add
L .
2 .“' * one ten is three tens, two hundreds add
!_z 7
. . one hundred is three hundred.’
dove to using place value counters
e = Tans Units ] -
Eﬂlmn_ﬁ.d-dlhun\ulth — & [ ] o9 Children can draw a 2[} -+ :_‘p
TEErouping. 39 E % E ﬁ - ®®  [cpresentation to 40 + g
! | support their
15 @ % ® . .. understanding of 6[} + ]_ 3 — ?3
5 4 L .‘ place value,
L exchanging the ten
Exchange ten ones for a ten. Model underneath the Start by partitioning -
using numicon and py Counters. 5 1 line. the numbers before 5.:"‘6
| o formal column to
14& . show the exchange. _|_ 8 5
- 621
11

Year 3 Addition key vocabulary: one hundred more, tens boundary,

Liaav <
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Objective &

Strategy

Concrete

Y4—add numbers with
up to 4 digits

Thedish CONTRde 10 4556 GIeNas -GSy
counters to add, exchanging ten ones for
a ten and ten tens for a hundred and ten
hundreds for a thousand.

Headreds l Tees l Crves

O

Pictorial
o0 50: 0.0 ::
a0 lewl oo
oo E: . 0::
Z X 5 1
° @

Draw representations using pv grid.

Y5—add numbers with
more than 4 digits.

Add decimals with 2 dec-
imal places, including
money.

Asyear 4

tens' ones 4 tenthsl hundredths)

M

Introduce decimal place value counters
and model exchange for addition.

Y6—add several num-
bers of increasing com-

plexity

Including adding money,
measure and decimals
with different numbers
of decimal points.

AsYS

Abstract

Continue from previous work to carry

Continue from previous work to exchange
hundreds as well as tens.
Relate to money and measures.

728 ‘Eight tenths add six tenths
+546 equals fourteen tenths,
> which is the same as one
127 4 whole and four tenths.’
11 £23. 59
+/£7 155
€3] %
81,059
366 %
| 5,30 1
+ 20,55 |
1205 79

Insert zeros for

2
S
place holders. >
q
2

Year 4-6 Addition Key vocabulary: ten thousand, hundred thousand, million, inverse,, tenths, hundredths, thousandths,
digit total, standard method, ascending, decimal
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Objective & Concrete Pictorial Abstract
Strategy
Taking away Use phiysical objects, counters , cubes etc ' i ¥ . ;
- 3 T T Y e
Ones. to show how objects can be taken away. Vi F 7—A=3
oe® @ AN A
6—a=2 T i a¥:
-.. .'I'.\ .-'I 1'-. -
.. - - FAYW.A. YA A ‘;/"
A vty 15-3=[12] 16—9 =7
-
4—2=2 - Cross out drawn objects to show what has
been taken away.
Counting back Put 13 in your head, count back 4. What number
°PP oo ANA -
-ttt r r r ::t &1
Kove objects away from the group, LU 2 4 4 & & 7T 8B & 10
counting backwards.
Mowve the beads
along the bead Count back in ones using a number lina.
e——— ~ string as you count
Vi w - Dackwards.
Find the Compare objects and amounts Hannah hasi2 swesets and her sister has 5. How
] Count on using a number line to find the many mare does Hannah have than her sister.?
Difference T 7 'Seven le 2 mare than faur difference.
N 4
‘I arm 2 wears clder than my
mister
5 P +8
—_—
’[" 0 1 2 3 4 % K 7T K% WMNBQ
-
Lay ohjects to represent bar model.

Year 1 Subtraction Key vocabulary: subtract, most, least, ones, tens, digit, multiple, fewest, largest, greatest, number

sentence, missing number

'NOLLOVALENS =
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Objective &

Strategy

Concrete

Pictorial

Abstract

Represent and use
number bonds and
related subtraction
facts within 20

Part Part Whole
model

Yy Link to addition. Use
oy PP model to model

lﬁ. < tha inverse.

If 10 is the whole and 6 is one of
the parts, what is the other part?

Move to using numbers within
the part whole model.

S 0 A
10—5=4 Use pictorial representations to show the part.
Make 10 13—7 16—8
i 13—-7=|86]| , .
m ‘ _ % [ How many do we take off first to get to
L T T - e B R . I B |
1 I 107 How many left to take off?
[ 1@ FTT 17171 Bl
i | | :_ Jump back 3 first, then another 4. Use ten
as the stoppi it
Kake 14 on the ten frame. Take 4 away PRmEPe
to make ten, then take one more away 50
that you have taken 5.
Bar model /y: ‘\ /u: ~
J 8 2
10=8+2
5—2=3 9-4=5
10=2+8
10—2=8
10—8=2

Year 1 Subtraction Key vocabulary: number, zero, subtract, equal, forwards, backwards, most, least, many, left, ones,

tens, digit, multiple, fewest, largest, greatest, number sentence, sum, missing number

*NOLLOVALENS =
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Use a bead bar or bead strings to model
counting to next ten and the rest.

Use a number line to count on to next ten
and then the rest.

Objective & Strategy Concrete Pictorial Abstract
Regroup a ten into >
Th "
ten ones » # v, . )
* ' - 3 =
- P e 20—4 =16
Use Dienes to show how to change a ten 2 _
into ten ones, use the term, ‘take and 0-4-= ‘The difference between twenty and four
make.’ is sixteen.”
make'
Partitioningtosub- | g4 3 -71 [T Children draw representations of Dienes and
(et Lot [
tract without re- — W cross off.
grouping. 43—21=22
. N = —
‘Friendly numbars . - 0 ﬁ
Use Dienes to —— - 0
show how to par- ‘Three ones minus one equals two
titicn the number ones. Four tens minus two tens
when subtracting LT equals two tens. Forty three minus
without regroup- . 43—21=22 twenty one is twenty two.’
. v =
ing.
Make ten strategy | ¥
Frogression should ba R - i =
Crossing one ten, crossing + ™ g 8a B0 83 93—76 =17
= 28 ™) Jep oOunting on” W ind ‘differsnce’
mora thon ome ban, cross-
ing the hundreds. 34—28

Year 2 Subtraction key vocabulary: numeral, teen, exchange, hundred, thousand, order, compare, equivalent, sequence,

difference,

'NOLLOWALENS =
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with regrouping

g
Begin with base 10 or Mumicon. Move to
pv counters, madelling the exchange of a

ten into then ones. Use the phrase ‘take
and make’ for exchange.

45-29=16
Tens | Ones

= — EﬂE"-.-",.-".-'"
’EHE“ B &

children may draw base ten or PV counters
and cross off.

Objective & Concrete Pictorial Abstract
Strategy
Column subtraction _ i
] - T (o) 47 -32 ™ i 54 p_ ) =23
without regrouping l_q'i'i— L
(friendly numbers) T 0 SEEEE— i-22 22% 4
- i 32 204+ =5
B =====s=zang i = .
Start with 47 (as above). Intermediate stap may
Subtract 32 (drag down) Draw representations to be needed to lead to 2 7
This leaves 15 left, the support understanding. clear subtracticn under- ’
answer to the standi | ;
calculation (see NAIng. b’
opposite). ,-f_ L
Column subtraction Tens Ones Jb-254 582

x " Begin by parti-
ﬂ? e & tioning into pv
00 S0 & columns

8 ? i

F18-583-lie Then move to

] T ]
‘2 2 B formal mathod.
5 7 1
I & &

Year 3 Subtraction key vocabulary: one hundred less, tens boundary,

"NOLLOVALENS <=
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Model process of exchange using
Dienes and then move to PV
counters.

Objective & Concrete Pictorial Abstract
Strategy

Subtracting tens 234 - 179 children to draw pv counters and show their
and ones exchange—see Y3 G i
Year 4 subtract with @E g@ .:l.. 2 ‘:" - S- Ll—
up to 4 digits. © e — i 5 G 9_
Introduce decimal subtrac- IE:J olo] ..- I I q 2
tion throuwgh contest of GEREE e d
money | @ 200

Use the term, ‘exchange’.

Year 5- Subtract
with at least 4 dig-
its, including money
and measures.

Swbtroct with decmal
wlves, including mintures
of integers and decimals
and cligning the decima!

Az Year 4

children to draw pv counters and show their
exchange—see Y3

LUise zeros
for place-
holders. -

Year 6—5Subtract
with increasingly
large and more

complex numbers
and decimal values.

Year 4-6 Subtraction key vocabulary: descending, standard method, thousandths, hundredths, ten thousand, hundred

thousand, million, inverse, decimal, tenths

"NOLLOVALENS =
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ultives including cubes and Numicon
to demonstrate doubling

= X2

I O+ 00

double 45 8
4x1.8 + =

Double 4 is 8

Objective & Concrete Pictorial Abstract
Strategy
Doubling Use practical activities using manip- | Draw pictures to show how to double numbers | Partition a number and then double each part

before recombining it back together.

12
/\
10 2

o) |

20 + 4=24

Counting in multi-
ples

Count the groups as children are skip
counting, children may use their fin-
gers as they are skip counting.

Children make representations to show
counting in muitiples.

2 -A“- - —l\"-(\ P U L
-00100!. o clagio de aomd@.-q
2 ls 4 % o = n e Is Zo

Count in multiples of a number aloud.

Write sequences with multiples of num-
bers.

2,4,6,8,10

5, 10, 15, 20, 25, 30

Making equal
groups and
counting the total

Draw <<l toshow2x3 =6

Draw and make representations

2x4=8

Year 1 Multiplication key vocabulary ones, tens, digit, multiple, multiplication, multiply, lots of, array, equal groups

XNOLLVOIdLLIN =
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Objective &

Strategy

Concrete

Pictorial

Abstract

Repeated addition

fi"o"

Use pictorial including number lines to solve

Prob  There are 3 sweets in one bag.
How many sweets are in 5 bags
altogether?

Write addition sentences to describe objects
and pictures.

2R R

S -
3+3+3+3+3
e L J ® ® - 15
@ > *+2+2+2+2=10
@ @ @ ® e ® o ® - ‘Five lots of two equals ten.’
® ® °
& . - & - Then represent the same calculation as
c > 4 v v v multiplication;
Use different objects to add , : 3 5x2 =10
equal groups
Understanding ar- | Use objects laid out in arrays to find the an- Draw representations of arrays to 3x2=6
rays swersto 2 lots 5, 3 lots of 2 etc. show understanding.
2x5=10

Year 1 Multiplication key vocabulary: ones, tens, digit, multiple, multiplication, multiply, lots of, array
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Objective & Concrete Pictorial Abstract
Strategy
Doubling Model doubling using dienes and PV Drraw pictures and representations to Partition a number and then double

coumnters.

40+ 12 =52

show how to double numbers

2 groups of 5

10

5 5

The parts are equal. Fil in the missing numbers.

(XX X)
(XXX

each part before recombining it back
together.

16
7 N\
10 7]
I Kl %2

20 + 12 =32

Counting in mult-
plesof2, 3, 4,5, 10
from O

(repeated addition)

Count the groups as children are skip
counting, children may use their fim-
gers as they are skip counting. Use bar
models.

24+5+5+54+5+5+5+5=40

E-"

IIl I"‘

|.|.|

Number lines, counting sticks and bar
models should be used to show repre-
sentation of counting in multples.

Count in multiples of a number aloud.

Write sequences with multiples of
numbers.

0,2.4,6,8 10
0,3,6,9,12, 15
0,5, 10, 15, 20, 25, 30

4 x 3 =

Year 2 Multiplication key vocabulary: numeral, teen, hundred, thousand, order, equivalent, sequence, row, column,

multiplication fact, times, repeated addition,
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Objective &

Strategy

Concrete

Pictorial

Abstract

Multiplication is
commutative

Create arrays using counters and cu-
bes and

Numicon.

Pupils should understand that an array can
represent different eqguations and that, as
multiplication is commutative, the order of
the multiplication does not affect the answer.

B s=

Usze representations of arrays to show different
caloulations and explore commutativity.

pase

12=3x4

12=4x=3

Use an array to wite
multiplication sentences and
reinforce repeated addiban.

00000
00000
Q0000

2+5+3=15
J+I+3+3+3=15
Sx3=15
IXS5=15

Using the Inverse

This should be
taught alongside
division, so pupils
learn how they
wark glongside
each other.

4x3=12
00
C M X ) 12+3=4
‘.‘ 3x4=12
XX

12+4=3

Zxd=8

d4x2 =8

d=8+2

Show all 8 related fact family sentences.

Year 2 Multiplication key vocabulary: numeral, teen, hundred, thousand, order, equivalent, sequence, row, column,

multiplication fact, times, repeated addition,

XNOLLYOLLINW =
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introduce the grid method.

d| W [ & rows
ol T £ rows
o2 e iz

Move onto base ten to move towards a

miore compact method.

L T 0]
I 100
[ O
I 10
[ 1 00/ CH
Move on to place value counters to show
hiow we are finding groups of a number. We
are multiplying by 4 so we need 4 rows

@ @ ®

4 rows of 13

L wlarien .

45126

Fill each rows with 126
@ @ ® F—

: ﬂ -
|

&dd up each column, starting with the ones
making any exchanges nesded
@ @ [ ]

Then you have your answer.

value counters in a way that they understand.

They can draw the counters using colours to
show different amounts or just use the circles in
the different columns to show their thinking as
shown below.

Objective & Concrete Pictorial Abstract
Strategy
Grid method Show the links with arrays to first childran can represent their work with place Start with multiplying by one digit num-

bers and showing the clear additicn
alongside the grid.

x 20 5
7 210 35

210 + 35 = 245

Moving forward, multiply by a 2 digit number
showing the different rows within the grid
method.

10 8
10 100 a0
d 30 24

Year 3 Addition key vocabulary: product,

X NOLLYOMdLLINN <



Eastry C.E Primary School

Pictorial

Abstract

Grid method recap

from year 3 for 2 Use place value counters to show how we

are finding groups of a number. We are mul-

Children can represent their work with place
value counters in a way that they understand.

Start with multiphying by one digit num-
bers and showing the clear addition

The corresponding long multiplication is mod-
glled alongside

tion alongside the formal written methods.

digits x 1 digit o They can draw the counters using colours to ! ;
tiplying by 4 50 we nead 4 rows ; diF amounts or just use the cirdes in alongside the grid.
= = osssess | thie different columns to show their thinking as
- 4x 126 shown below: ) 30 5
Mowve to multiplying ) 7 210 35
3 digit numbers by o=
1 digit. [year 4 ex- |Fle-ammw'n|m125 2010 + 35 = FL5 |
pectation)
Add each column making any
exchanges needed.
Column multiplication | Children can continue to be supported by
place value counters at the stage of multipli- » 300 20 7 ‘
cation. This initiallv done where thera is no 4 | 1700 RO ] . e |
regrouping.  327x4= 1308 3 2 2 This may
to a compact
The grid method may be used to show how this x method
It is im- relates to a formal written method. )
portant at I .3 0 8
this stage I
thiat they
always |
multiphy
the ones
Frst. Bar modelling and number lines can support
learners when solving problems with multiplica-

X NOLLVOMALLTIN =

Year 4 Multiplication vocabulary: square, cubed
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Objective & Concrete Pictorial Abstract
Strategy | |
Column Multiplication for

Hundreds Tens Cnies ® 300 20 7 -

3 and 4 digit= « 1 digit.

It is im- 4 [1200 |ao |2a
portant at
“_= | thisstage
. | =2 | thatthey
always
“ I ;:-:- multiply
the ones
‘ | o | fes

Children can continue to be supported by

place value counters at the stage of multipl- 3 _?__ ? This will lead to

cation. This initially done where there is no *® LL

regrouping. a compact

327x4=1308 J 3 O. 8 method.
LI
Column Manipulatives may still be used with the cor- e Start on the first row
i iplicati ith . =24.

Multiplication for nlﬁpunn_dlng lang multiplication modelled 10 8 "AI'II’I}TS i_:, >2< tlfnsa:ni 424
2 or more digits x 2 alongside. x| 1|3 ones. Place the 2 tens

or more digits. in the tens column

5| 4 and the 4 ones in the
2 ones column. 3x10 =
1|80 30. So there are 3
tens and then | need
2 a4 to add the 2 tens to

make 5 tens in total.
Move onto the
second row to

:l ?— 3 I..f_ calculate 10 x 18. 10 x
8 =80 so put 8 tens in
the tens column and

Z 0 'LL iz 0 ones in the ones

Confinue to use bar modelling to support prob- l| iz column. 10x 10 = 100
so put 1 hundred in

lem solving I q I? I|+_ |'_|_ the hundreds column.

Year 5-6 Multiplication key vocabulary: digit total,
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Objective &

Strategy

Concrete

Pictorial

Abstract

Multiplying decimals
up to 2 decimal plac-
es by a single digit.

Remind children that the single digit
belongs in the ones column and to
line up the decimal points in the
question and answer.

3+ 19

x8
25 52

I\u

‘Eight groups of nine hundredths is
seventy two hundredths, which is
the same as seven tenths and two
hundredths. Eight groups of one
tenths makes eight tenths; add the
seven tenths to give a total of fifteen
tenths, which is the same as one
whole and five tenths. Eight groups
of three makes twenty four; add on
the extra one whole one, to make
twenty five ones’
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Objective & Concrete Pictorial Abstract
Strategy
Division as sharing Children use pictures or shapes to share quanti-

i 12 shared between 3 is

$3 83 4
$3 £

8 Shareu vetwesn 215 4

~ &%

12 shared between 3 is &

1 have 10 cubes, can you share them equally in
2 groups?

Year 1 Division key vocabulary: ones, tens, digit, division, divide,
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Objective & Concrete Pictorial Abstract
Strategy
Division as sharing Children use pictures or shapes to share quanti- 12 & 3 o 4

ties.
@ @ $§ Divide 12 into 3 groups.

% § @ $ How many are in each group?

Children use bar modelling to show and support

understanding.
| have 10 cubes, can you share them equally in
2 groups?
10+2=5
000 000 000 o000
12+4=3
Division as grouping | Divide quantities into equal groups. Use number lines for grouping 28=7=4
Use cubes, counters, objects or place value /.?\2\/.‘\/‘,\ d ;
P i Divide 28 int 7.
T A 0123458789 101112 vide 22 Into groups o
000 060 000 000 How many groups of 7 can you
make?
12+-3=4

How many groups of 5 are needed to make
20? This can be represented in a bar model
like this:

g 20
—— | |
35+5=7 20 +5=2?

S x?=20

NOISIAIQ =

<
-l
B
2
¥
"
"
3

Year 2 Division key vocabulary: numeral, teen, hundred, thousand, division fact, equal groups, share equally, left over,
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Objective & Concrete Pictorial Abstract
Strategy
Division as Use cubes, counters, ohjects or place value Continue to use bar modelling to aid solving How many groups 0{: Gin
grouping and counters to aid understanding. division problems.
sharing Grouping: 247
continued. 20
Understand that 24d-6=4
grouping is
repeated
subtraction. | have 24 and share them into 6
20+5=2 i
24 divided into groups of 6 = 4 . groups. How many are in each
Sharing: 3 x 7=20 group?
Continue to use number lines to support.
86 +3 =32
® @& @
o® 0® o® | WY
{f}- E}' @. 0 5 10 15 20

Division with arrays

Link division to multiplication by creating an
array and thinking about the number sentenc-
es that can be created.

EE15=3=5 5x3=15

15=5=3 3x5=15

Draw an array and use lines to split the array
into groups to make multiplication and division
SEntences.

0600

Children may use this to answer questions
such as, I have 15 cubes in rows of 5. How
many in each column?

Find the inverse of multplication and division
semtences by creating eight linking number
sentences.

Tud=2E
A4xT=2E
2E=T7=4
2B=-4=7
2BE=Tx4
2E=4x7
4=28:7

T=28+4

Year 3 Division key vocabulary: factor, remainder,
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Objective & Concrete Pictorial Abstract
Strategy
Division with 14 =3 = Jump forward in equal jumps on a number line | Complete written divisions and show the re-
remainders using Sharing; then ses how many more you need to jump te | mainder using r.
sharing or Divide objects between groups and see how find & remainder.
grouping. much is left over. 29 + 8 = 3 REMAINDER 5
13:4=3n1 T Tt T

dividond  divisor quotion e

T ava
EE B8 BB C N

b ~| Draw dots and group them to divide am amount

‘ and dearly show a remainder
Grouping: 14+-3=4r2

OOOOL

Use bar models to show division with remain-
ders. 37+10=3r7

ar

Example without remainder
a0 +5 +5+h+5+5+5+5H+ = f fiwes

gk “How many 53 in 407
0 5 1015 20 25 30 35 40

Example with remaindsar;
BB
+G+6+6+68 8+ = § sixes with a rermainder of 2

06 12 18 24 30 36 38

For Iarger nuembers when | becormes melhicignt 1o count in 5||1gh! multiples, hlgger
jumps can be recorded usng known facts




Eastry C.E Primary School

Use place value counters to divide using the
short standard method alongside:

e e

i
e
P aze3

42 = 3=

Start with the biggest place value, we are
sharing 40 into three groups. 'We can put 1

ten in each group and we hawve 1 ten left over.

® e®

(0]
()
(=

wWe exchange this ten for ten ones and then

share the ones equally among the groups.

()]

(O]

we look how much in 1 group so the answer

iz 14.
This can also be completed using grouping.

They may also use drawings of Dienes or
place value counters.

Encourage them to move towards counting in
miultiples to divide more efficiantly.

Children should also use the method of
grouping to divide.

52+-4=13

Objective & Concrete Pictorial Abstract
Strategy
Divide at least 3 digit |96=3 Students can continue to use drawn diagrams Bagin with divisions that divide agually with
numbers by 1 digit. Tens Ones with dots or circles to help them divide numbers | ™2 remainder.
3 2 into equal growps. 2 1 B
N eee ee 3
ivision
3 Qe @0
OeC ee 4.8 7 2

Move onto divisions with a remainder.

8 6 r 2
3
5 4 3 2

Finally mowe into decimal places to divide the
total accurately.

1a3. 8

5| 729.4 0

These can be completed through
sharing or grouping.

Year 4-6 Division key vocabulary: tenths, hundredths, thousandths, inverse, factorise, prime factor
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Long Division

Introduce children to long division as a method of dividing by 432 - 12 =36
a 2 digit number. MUltiplES of 12 12x1=12
1. Children should begin by starting with this expanded 0 3 6 12x2=24
method (see opposite) which supports them with | 12 x35=236
understanding how multiples can help with division. It can 1 2 4 3 2 12 % 4 = 48
I t children t divisi ted subtraction;
therefore linking thei understanding of grouping, -3 .60 (12x30) 12 x5 =60
21 2 12x6=72
12x7 =284
- 72 (12x6) 12x8=96
0 12 x 7 =108
12 x10 =120

2. Children can then progress to the formal compact method 516 +-12 =43

for long division (without the calculations in the brackets) 4 3
1 2|5 16

when appropriate.
- 438

3
=30

DO O

3. When secure, children will be expected to use either long
division method and interpret remainders as whole
numbers, decimals, fractions or rounding as required.




